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Page 378 Solution of Question 13. Change the second and third lines to:
E[X ∧ 1] = 1× 1

2 + 1× 1
2 = 1. E[S(A)] = E[N ]× E[X ∧ 1] = 1.

E[(X ∧ 1)2] = 12 × 1
2 + 12 × 1

2 = 1. V ar[S(A)] = E[N ]×E[(X ∧ 1)2] = 1.

Page 387 Section 22.2. Fourth line.
Change k

2 to k.

Page 698 Solution to Question 79. Third line.
Change “10c” to “1− c”.

Page 708 Fourth line from the bottom.

Change V âr[X] = 1
n−1 ×

n∑
i=1

(Xi − X̂)2 to V âr[X] = 1
n−1 ×

n∑
i=1

(Xi − X̄)2.

Page 729 Fourth line from the bottom.
It should read:

450(02)+30(12)+10(22)+5(32)+5(42)
499 − 500

499 (.17)
2 = .362.
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